[. I;na( e wense e‘f A = (j (|>> van‘n
GO0 5 () B
Sl (ot \ja by e dy ey
VS o/l d/7\E 2] (o v/
= a=d=o b=2 c=|

2 -’)
-1 2

2. Find e o)zmm/uzs ! d((,leuvwfws J’( A ’(

Sf:  dA(A-AD) = o

=

I:—/‘\ =1
=1 Z_A = O

<= N-4)+4 -] =0

= Nedh+ 3 s

<= Mh-DK-»=o0

So A= o A=3
fow A=) Ax = nx
& 2 SINN\ (A e)\(Xxi
(—1 z/\Xx} Lo A/\Xz/
23 /z->\ =1 \/x.\_ o)
L ~1 z—h/\x»/ Lo/
& [ L-Mx-x=o0 @

=X, (2‘)))(;:0

Mfde A=) m @ : ( Xi =X =0 &= X, =X,
"xl"')(‘,‘:O
r !
T@lU X = (l) =
“tor A=3  cubbtde N2 W @
{f =Xi-X2z0 L. X, = =Xz
ﬁ <
=X, - X, zo




=87
Bage u i w
3. {_A)lm% aug/z( oo 4o 2 d%mm;fms : E}? A woke ?
Q(() for -77:=I'1’(.,) oud % E"(.’.)
‘ it O he Yo omgle hefween X and X% Qe [o,n]
B 2.5 4
MJ'SQ = =N
! X -1%l
Nofe - %% =1 (14 1) =0

> w0 > p:d-g

I
=
;,/)f/f \} &2 (x—%) + éazzg o
\, / Ty)/ nlkg{um-r( ’l(zj; —S,‘m,/ b e
[ |
\/:/ \ An e//hs.e

4 MLMMMW

X
g\-fp f ?M__Mfﬁmszcs ; [~ "1)(—' )(3) = 2% "2’"(:} "»‘(}lz
/ Neeol 4o eliminade  the  wocs  Hoam = 0 \
' ( The !Mﬁ@d ooy is 2 ‘('\av hoth X owol '((1 ,)
Tr\/ = X'f‘(d 3 \1’ = X- '(3
Aim '{o _JF'”'J aX 4 EY = Ox* -2xy +2az
= a-(x+2xu+u)+b (x-2xz:+14)-2><—2x14+%1
d d d J
(a+b) (x4u) + 2(a-b)xy = 2x° +z3 —)x104
CWMEMP (ng.‘n‘mn 2‘1
> [(a4h=> N =

\
—A—
S— =
1
V- Ww

g=k =1




: AN c«me& wose Y= X = (.)

=R/

Page ; i i ¥ »

G He mew Wa&uaa(es are.

=t (o)

, @ Use. Y‘Ywm& resuHs

By 0 XLE s Jo ol X e, .
. Y= a%+ by . a. be K (-f_zsfcw o PIM)
Note — (x B)A(j) - %A% ® PR

X
. s BALGEABTY L
= XT(aAX * bAR) = % (a% + 3b%)

T Ty
= (ax +b% ) (a%+2b%)

2 = FEEEN 2 T —
= R X X 4 4,GLJ,X1 - X + g,b 5(; * Xz
2 =T —

= g X% +3 R s

Tn dorms ,u’f . % @ ym};l}ﬁeo( as  above. .
' Mo( 7;?(.’.) as oW uew loayis.




